)+ 314} +2

{(




AF7} 5024cm) Wol &k o] 9] 5] PolS T5hAL.

> E cm
[> HEFD 16cm

50.24 + 3.14 = 16( cm)
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A9 A& 1 10(cm)
10 x 3.14 = 31.4( c¢m)
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5. 9 HolE FsHA 2.

B 201g0] : 8+ 2 — 4(cm)
o] \o] @ 4x4x3.14 = 50.24( cm?)
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Eol 16cm?] Y59 =& A )
A19] Zo]7} 100.48 cmO| AT Y5 o] 8= 252l 2 ujrt =4l
SY71?

v
iy
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9] E¢ 9] Zol2 T2,

| 2
> HEH 69.08cm

11 x 2% 3.14 = 69.08( cm)
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60 x 2+ 30 x 3.14

120 + 94.2 = 214.2(cm)
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=-47 lem--"""

47.1 +3.14 = 15(cm)




10. 232 250l 28cm? Ay AHgt

>
> HEH 153.86.cm?

AT 2] Hol=(8l Hol)x

1
14x 14 x 314 % | = 153.86(cm?)
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ohe I 2L 9 mepe] WAS 6 o] Ho] Lol woely
SHA| @
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1
12x 12 x 3.14 x 5= 75.36( cm?)
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otebA 7ot gt oshd
3.14 4 9.42 = 12.56
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100.48 cm

0.

(2 29 9F) + (F=2 99 4F)
24 x3.14 4+ 8% 3.14 = 75.36 + 25.12
= 100.48( cm)




15. the T 9ol Hold & e,

(1) (2)

>
[> HE T 1158.66.cm?

(1) 12 x 12 x 3.14 = 452.16( cm?)
(2) 15 x 15 x 3.14 = 706.5( cm?)
452.16 + 706.5 = 1158.66( cm?)




16. ¥ Ho]7} 153.86cm2 ¢l Yo Hix|E e ¥

» E cm

> =g 7Tem

B
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[ ]x[ ]x3.14=15386
[ ]x[ ]=153.86+3.14
[ Ix[ ]=49
[]=7(cm)
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314 = 3.14
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1
:20x20><3.14><§—40><20x%
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=12%x12-6Xx6x3.14 = 144 — 113.04
— 30.96( cm?)
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[
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>
> ®ebr 409

~&B

(7F et A7 &1 A=) = (U vh7E 222 A )
16 x3.14%x20=8x%x3.14 x 0O

1004.8 = 25.12 x O

O = 1004.8 + 25.12

o = 40(H)
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AF7F69.08 cm ] A} =2 2] do]7t 36.4 cmQl
okt [ [otel e 2 oA,

2] gol7} HAk2tg Wolurt
[ Jem?w & 9&Uc

>
> ®EHD 297.13cm?

HO| B2 E
(HrA]2)x2 x 3.14 = 69.08

(HF2]5)x6.28 = 69.08
(9F2] )= 69.08 = 6.28
(S 5)= 11(cm)

2ol gol 1 11 x 11 x 3.14 = 379.94( cm?)
JArZYE o W olZo] & 36.4 +4 = 9.1(cm)
JArZYE 2] o] & 9.1 x 9.1 = 82.81(cm?)
(¥ wol)-(HAAZ 9 Hol)

= 379.94 — 82.81 = 297.13(cm?)
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@ 9=F7F25.12cm Y
[ ]x2x3.14 =25.12
[ ]x6.28=25.12
[ ]=2512+6.28

|:|=4(cm)

=l

Ox(Ox3.14="1785
OxQO="785+3.14
OxO =25

O =5(cm)

445 =9(cm)

@ ¥2] Ho|7} 78.5 cm? ¢l

29 w45 : [
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AR 712 ¢ 16em
AAF2 9] A2 ¢ Som
Yo ¥t & & 8cm
(A= FEo gol)

:16><8—(8><8><3.14)><%

= 128 —100.48
= 27.52( cm?)
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